Math 1513 - College Algebra
Discussion Board Week 12 - Due 2016.11.06

Use properties of logarithms to solve for the unknown variable.
1. In(bz) —In(2z — 1) = In(4)
9 e3r—1l. 22 _ 221
3. log(z) = \/log()
4. logy(x+25) =1—logy(22 —7)
5. In(x +25)=-2—In(2x —7)
6. 9iv—5 _3.93u-T
7 eda=5 _ 3. (%)731+7
Q. er—5,—20+8 _ 3,—3z+7
9. log(z)+log(3z—13)=1
10.  logy(x) +logy(3z — 13) =2
11.  log(z?) = (log(x))?
12.  logz(logs(x)) =1
13. logi(logi(x)) = -1
14, 422—T _ 93345
15,  420-7 — 393v+3
16.  log(x + 14) — log(z) = log(z + 6)
17.  logg(z —4) +logg(z —7) =2
18.  In(5+x) +In(z — 2) =In(2)
19. 2vtb =3e-d
20. 5% =3%
21.  log(z + 1) =log(bx) + log(z — 1)
22, logs(x + 6) — logs(x) = logs(5)
23.  log(z) +log(x + 1) = log(5)
24.  2In(z) — In(2) = In(6 + =)

25.  In(z —1) +In(3) = In(4x)



